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The figures ln the margln lndlcatefutt mqrks for the quesd,ons.

Answer qng fiue Etestions.
(a) Find the impulse respons e h{n) for eachof the causal, dis

satisfying the
equations and
each system is

5+5+5(il u@)=*(n)-zx(n _2)+ x(n_ 3)
@ a@)+za@- 1)= x(n)+ x(n _t)
(ttt) a@- o.s a@-2) =zx(n)_x(n_2)

(b) Why is folding operation necessa_rylinear convolution ?
in
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6. A causal discrete time LTI system is
described by

a@)-]r@-r)+|u @-2)= *(n) ;

where *(") and A@) are the input and the
output of the system respectively.

0 Find the system function U(r).
7

(u) Find the impulse response h(n) of
the system. 7
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